| RZRERNIZEITS
BO0F 94 JLRABRIEEDFKERR

\

=6

THM3F12R1B~m#14F2A288

AR FH&R REEFR




50

45

40

35

30

25

20

15

10

20204

11 A¥EY:0567A/8
12A¥89:2613A/8

20214
1HES
2AEH
SAEH
4R FE1§
58Ty
68 Ty
TH¥EH
8H T
9B
1058 FHy
114
123
1H¥EH
2AEB

:2.548 A./8
00711 A/H
0.097 A/H
‘0.800A/H
:1.032 /8
:0.033.A/H
:0.484 N/ B
:5.355 A/H
:0.900A/H
‘0.097 A/H
DN

:0.065 A/H
:9.000A/H
23857 A/H

FHEERIZH TS5 IEHIBAE B DHERZ (A

26

13

| B 6H16 E|m1oﬁ 1B

%1,&’_ 2020.’£1ﬁ 308~6H15H

20

)

45

41

31

26

Eaf:3A18~6R30
B3 10H22E|m2021EE2H285 =

) T
' el 1281 5~28280

Boi: 7H1H~11A308



RERERNDEAEEHIBAER(A)

0 100 200 300 400 500 600 700 800 900

1 ﬁ 15 : 20201 H30H~ 68158 33
E2F:6H16H~10A21H 148
FE3IF:108220~2021E2H828H 1798
Z4F:381H~6A30H 6078
F5K:7H1H~11A30H 2114,

5% #68:12318~2 288 949

ﬁ

6 ; = e

= 101X Rl H 101 201t 301% 401K
® 501K 2601% & 701K B 801% moo{t LL L

1000



FRERNOFRFEMEFIBHE DS (%)

100%

90%

80%

70%

60%

50%

40%

30%

20%

10%

0%

B

P
e~
—

0.5

¥
o
-

-
=

i
o

[
-

o,

o
SRR
9.5
R

-
R
S

N

"

SR
S \ﬁ:\\\&

K\K\\}E@\C\éi{%&\%h{x&{m
\Qﬁ&\kﬁ%ﬂ&x&

T
e

i
R
S

S
R,

i
S
e

S
R
e

S

e
<
i

R
o
SRR

R
=

ST
18.5

=
R

i

R
e

T
R
R

T
b

o
[%p]
i

=]
—

16.0

o=
=
i

301K
@ 701X

Z

X

20
2 601t
m FCAER

m 901t L E

m101%
@ 501

10X R iiH

401X
B 301

M &

H ™~

ﬁam

i ooy
DS &
002_H_uEu
STl e d
Tlmy o
1_H_H_2

Ho~wmDm
ml_u_ﬂll
o I o I O
N —m
— ™M s
1ol sl gl

=6 12A1H0~2HF280



i BT 5ll (35675)

- fi i1 I

PRHET
24 A, 3%

R
688A,72%




REE (F6R)

BE
2N, 0%

T

k|
BERE
856N\, 90%

BJaRE
23\, 3%

AB
GV

REE
5A




FHRAFEET (F6IR)

Al EERRE sBERE sPHNOAREZ B BE
160

140

120
100
8 1 1
6
4 1
| R
B

10K 101K 204% 301% 401% 504t 601% 704% g80ft 9oftLlE

o

o

o

o

o



AERERNOBEREEHDOHE (N)

250

211

198

0

0

2

202

200

150

100

50

H8THT
HIiTHT
HITHT
HSTHT
=fz42k4
HETHT
HZtHT
HIZHT
HOZHT
H6THT
HSTHT
HITHT
HITHT
HSTHT
HYTHT
HETHT
HZIHT
HITHT
HOTHT
He6HTC
H8HT
HLHT
HIHT
HSHT
HvHT
HeEHTC
HcHT
HIHT
HIEHT
HOEHT
H6ZHT
H8THT
HLTHT
H9ZHT
HSZHT
HYZHT
HETHT
HezHT
HIZHT
HOZHT
H6THT
HSTHT
HLIHT
HOTHT
HSTHT
HYTHT
HETHT
HeTHT
HITHT
HOTHT
H6HT
HSHT
HLHT
HIHT
HSHT
HYHT
HEHT
HZHT
HIHT



- % - BEABIAR

TESE w2

s 44
AT 23
5% 9

trr) 14

v (Be ~2/28)

- (KFEAR
[FIEE AR 10
Bt 57
1F32 0




T

5528 —RERR (B 65)

HEHE (FR)

= WD HE AR

2 R

E34ES

GININIDN| P

RE A HER




